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Note:— Answers may be written either in English or in
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throughout the paper.
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Attempt any five questions.
All questions carry equal marks.
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1. Critically examine the definition of ‘Trade Union’
~ under the Trade Union Act, 1926. Discuss various
formalities required for registration of Trade Union.
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. There are certain immunities and privileges available

to the registered Trade Unions from liability for

‘criminal conspiracy, breach of contract and tortious

liabilities. But these are not unconditional ones.
Explain the extent and conditionalities for availing
these immunities. Explain with the help of decided
cases.
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. Do you think that the triple test propounded by the

Constitution Bench of the Apex Court in ‘Bangalore
Water Supply case’ is still valid for determining
whether any activity is an industry or not? Discuss it in

- the light of leglslatlve and judicial developments in the

field.
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. Define the concept of ‘Industrial Dispute’ and explain
whether the dispute between management of school
and teacher relating to hlS dismissal is an Industrial

Dispute.
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. Who is a workman under Sec. 2(s) of the Industrial
Disputes Act, 1947? Discuss whether the following
persons would fit in the definition of ‘workman’ under
the L.D. Act, 1947. Give reasons for your answer.

(a) A pilot drawing salary of Rs. one lac p.m.

(b) A Medical Representative, drawing a salary of Rs.
10,000/- and also getting an Additional
Commission of 4% on the basis of the monthly
sales.
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What are the ingredients of ‘Strike’? Discuss the
effect of strike on contract of employment.
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. What is ‘Retrenchment’ under the Industrial Disputes

Act, 1947? Explain the law on the subject highlighting
the judicial decisions in India, in this regard.
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. Write brief notes on any two of the following:

(a) Distinction between ‘Lockout’, ‘Closure’, and
‘Layoff’ C

(b) Powers of Registrar under the Trade Unions Act,
1926

(c) Distinguish between ‘Contract of service’ and
- ‘Contract for service’.
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